ASSEMBLY INSTRUCTION




ASSEMBLY INSTRUCTION

HARDWARE LIST

NO DESCRIPTION SKETCH arty NO DESCRIPTION SKETCH arTy
©) Plastic Washer 27PCS ® Spring Washer(M8) © 25PCS
® Bolt(M8*40MM) -~ 19PCS @ Nut(M8) & 9PCS
® Bolt(M8*80MM) L 6PCS Allen Wrench(S5) / 3PCS
Double Ended
@ Bolt(M8*70MM) ‘ 7PCS ©] Socket Spanner ? 1PC
® Flat Washer(M8) @ 37PCS
PARTS LIST
NO DESCRIPTION SKETCH QTY NO DESCRIPTION SKETCH QTY
A Backrest F 4PCS G Seat Frame \’ 4PCS
B Left Armrest @ 1PC H Pillow D 2PCS
C Right Armrest @ 1PC [ Leg @ 24PCS
Back and Seat Ottoman Seat ./
D Cushion Package 4Pcs J Frame \ 2PCS
Back Cushion after @
E decompression 4PCS K Ottgman Seat 2PCS
Cushion Package
from(D)
. Ottoman Seat -
. SZZZS;STSSnSZf;er L\ 4PCS L Cushion after — 2PCS
P L decompression I
from(D)
from(K)

page 2 of 13




HARDWARE LIST
NO DESCRIPTION SKETCH QaTty NO DESCRIPTION SKETCH QaTy
@) Plastic Washer &p 9PCS ® Spring Washer(M8) %) 15PCS
@ Bolt(M8*40MM) - 9PCS @ Nut(M8) ® 9PCS
® Bolt(M8*80MM) -~ 2PCS Allen Wrench(S5) d 1PC
@ é?)?tlzl?/:g*sglc\jﬂel\j) \ 7PCS © Socket Spanner ? 1PC
® Flat Washer(M8) @ 19PCS
PARTS LIST
NO DESCRIPTION SKETCH QTY
A Backrest u! | 2
B Left Armrest @ 1
C Right Armrest @ 1
D Back and Seat Cushion Package 2
Back Cushion after decompression
E 2
from(D)
Seat Cushion after decompression
G Seat Frame == 2
H Pillow L\ 2
| Leg o 8

page 3 of 13




HARDWARE LIST

NO DESCRIPTION SKETCH QaTty NO DESCRIPTION SKETCH QaTy
@ Plastic Washer & 18PCS ® Spring Washer(M8) © 10PCS
® Bolt(M8*40MM) - 10PCS @ Nut(M8) =4 2PCS
® Bolt(M8*80MM) - 4PCS Allen Wrench(S5) 4 2PCS
® Flat Washer(M8) @ 18PCS
PARTS LIST
NO DESCRIPTION SKETCH QTY
A Backrest ﬂ= | 2
D Back and Seat Cushion Package 2
E Back Cushion after decompression 5
from(D)
= Seat Cushion after decompression A — 5
from(D)
G Seat Frame @ 2
J Ottoman Seat Frame 2
K Ottoman Seat Cushion Package 2
L Ottoman Seat Cushion after L\ 5
decompression from(K) —
I Leg S 16

page 4 of 13




DIAGRAEM 1 Insert the Backrest(A) into the Seat Frame(G).

; Backrest(A)

Seat Frame(G) ‘ X4

DIAGRAEM 2 Install the Backrest(A) to Seat Frame(G) using Bolts(®) ,Flat Washers(®)
,Sping Washers (©) with Allen Wrench((®),turning clockwise until tight.

| Backrest(A) | 16PCS

16PCS

@ |@ |=

16FCS

i)
N

1FPC

Seat Frame(E)

X4

page 5 of 13




DIAGRAEM 3 Attach the magic tape to the back of the Seat Frame(G). Assemble the

remaining seats according to the above steps.

Backrest(A)

Seat Frame(G)

X4

DIAGRAEM 4 Insert the Double Ended Bolts(M8*70MM) (@) into the hole of the Left Armrest

(B) and turning clockwise until tight.

’ @M8*70MM

A\ [zpcs

Left Armrest(B)

page 6 of 13




DIAGRAEM 5 Attach the Seat Frame(G) to the Left Armrest(B) using Nuts (D) , Flat
Washers(®) and Spring Washers(®) with Socket Spanner(©®) ,turning clockwise until tight.

3PCE

< |gpcs

3PCS
1PC

@ @ = |G
]

Left Armrest(B)

Seat Frame(G)

DIAGRAEM 6 Place the Plastic Washers((D) on the legs(l) .Then attach the legs(l) to the sofa.
Note: The use of Plastic Washer((D) are OPTIONAL and are especially useful to help alleviate
slight wobbleness. Some Legs may need more than one Plastic Washer(()) while some Legs
may not need any.

@ | © |acs
1 | ©  |apcs

/‘N /
( :
. & Leg(l)

Seat Frame(G)

page 7 of 13




DIAGRAEM 7 Insert the Double Ended Bolt(M8*70MM) (@) into the hole of the Right
Armrest(C) and turning clockwise until tight.

%

/ ]

@®M8*70MM

&

A\ |spcs

!

Right Armrest(C)

DIAGRAEM 8 Attach the Seat Frame(G) to the Right Armrest(C) using Nut (D) ,Flat
Washer(®) ,Spring Washer(®) with Socket Spanner(©®) ,turning clockwise until tight.

Seat Frame(G)

© ¢ |apes
® 2 |zPcs
@ " |zpes
@ 1PC
Right Armrest(C)

page 8 of 13




DIAGRAEM 9 Repeat the Step 6 to install the 4pcs Legs(l) to Seat Frame(G).

@ | ® |scs
m 1 | 2 lapcs
™
I J?/
Seat Frame(G)
DIAGRAEM 10 Repeat the Step 6 to install the 4pcs Legs(l) to Seat Frame(G).
@ | @ |apcesz
I O |apcssz
5
d .
Leg(l)
Seat Frame(G)

page 9 of 13




DIAGRAEM 11 Connect all of the fully assembled Seat Frames one by one using the Bolts((®)
,Flat Washers(®) with Allen Wrench(®),the other side using Nuts (D),Flat Washers(®) with

GPCS

12PCS

BPCS

@@ @ (@ @

1PE

Socket Spanner(©) as picture showned,turning clockwise until tight.
ﬁjﬁ/

DIAGRAEM 12 Cut the Back and Seat Cushion Package (D) , then take out 4 pcs Back
Cushions (E) and 4 pcs Seat Cushions (F).Full decompression may take up to 72 hours.

Back and Seat Cushion Package(D)

Cut Here f \

N

=

=

Back Cushion(E) Seat Cushion(F) X4

page 10 of 13




DIAGRAEM 13 Put the 4pcs Seat Cushions(F) and 4pcs Back Cushions(E) on the Sofa.

Seat Cushion(F)
T >(
[

— 1 —— Back Cushion(E)

DIAGRAEM 14 Put the 2 pcs Pillows(H) on the Sofa.

Pillow(H)

page 11 of 13




DIAGRAEM 15 Repeat the Step 6 to install the 4pcs Legs(l) to Ottoman Seat Frame(J).

il € |apcs#2
O |apcse2

¢ N

X Ottoman Seat Frame(J)
X2

DIAGRAEM 16 Open the Ottoman Seat Cushion Package (K), then take out 2 pcs Ottoman
Seat Cushion (L) .Full decompression may take up to 72 hours.

Ottoman Seat Cushion Package (K)

Ottoman Seat Frame(L) ‘ 72 h
)

X2

page 12 of 13



DIAGRAEM 17 Put the 2pcs Ottoman Seat Cushion (L) on the Ottoman Seat Frame(J).Your
Ottoman is ready for use.

| Ottoman Seat Cushion (L)
\ /
‘[ m

) = ”

Y

LA

UJ U

Ottoman Seat Frame(J)

X2

DIAGRAM 18 Your Sectional Sofa is ready for use.Your Sectional Sofa can only be used
on a flat, level surface.

Complete

page 13 of 13




